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	6313
	293.00
	9.33.10
	This pseudo-code for NAV timer update appears extensively broken. In particular...

1) The code indicates that NAV_DTSCANCELABLE for a timer should be set true when that timer is update on receipt of a DBandDTS frame. When, other than "when a STA is enabled for operation" (quoting text earlier in this clause) is NAV_DTSCANCELABLE set false?

2) The two "for" loops iterate over aMinNAVTimersNumber - shouldn't they actually iterate over the number of timers actually supported (which may be greater than aMinNAVTimersNumber)?

3) In the search for a matching NAV timer to update, a couple of conditions in the "else if" branch seem redundant:

 - Firstly, any conditions where NAVSRC(x) = R_DST are previously caught by the "if" part (which has condition (received_frame = ACK || NAVSRC(x) = R_DST). This eliminates the last additive item in the "else if" condition (NAVDST(x) = R_SRC && NAVSRC(x) = R_DST).

 - I then contend that the "else if" condition can be simplified further given that NAVDST(x) can never be set to 0 - NAVDST() values are initialised to "NULL" (which seems to be treated as different to 0 here), and only assigned the value of R_DST thereafter. The latter is always non-zero, taking values from RA or NAV-DA fields of received frames.

 - Hence, I think we are left with the following as the condition for the "else if" part: ((NAVSRC(x) = R_SRC && NAVDST(x) = R_DST) || (NAVSRC(x) = 0 && NAVDST(x) = R_DST))

I'm not certain that this is what was intended - it seems like a much too dramatic difference in appearance to be benign.
	If what is written is what was intended then simplify the pseudo code as I have suggested. Else rewrite the lot so that it is correct.


Proposed Resolution: Reject
Reason:  For the first point, the NAC-DTSCANCELABLE is set to FALSE when the STA is enabled for operation as identified in page 291 lines 37 and 38.                                                                                                                                 For the second point: There are  two "for" loops with the first "for" loop looking for cases where there is a matching NAV entry that is already set and updates changes to it and the second "for" loop considers when there is no matching NAV entry and if there is no matching NAV entry and there are available NAV timers then it sets it appropriately based on the conditions.                                                                         
	6321
	349.00
	9.36.4.3
	I think there is an out-by-one problem with the WinCapacityB equation on this line and elsewhere in this clause.

In particular, consider the case where the receive reordering buffer holds BufSizeB frames with consecutive SNs. Then, WinTailB ("the value of the Sequence Number field (SN) of the first (in order of ascending sequence number) MSDU or A-MSDU that has not yet been delivered to the next MAC process") should be the lowest SN of all these frames, and WinHeadB ("the highest SN received in the current reception range") should be the highest SN of all these frames.

In this case where the receive reordering buffer holds BufSizeB frames one would logicall expect the buffer to be considered full - i.e., have zero remaining capacity, however the specified equation (WinCapacityB = WinTailB + BufSizeB - WinHeadB) sees WinCapacityB set to 1 in this situation.
	Change the equation to WinCapacityB = WinTailB + BufSizeB - (WinHeadB + 1) or somesuch.


Proposed Resolution: Reject

Reason:  Let us look at the example. Let WinStartB=100, BuffSize=WinCapacityB=64, WinEndB=163, WinTailB = WinHeadB=99. If a MAC MSDU or AMSDU arrived with SSN = 100 then WinCapacityB according to the line 43 becomes 99+64-100=63 which is right as we had a packet with SN=100 arriving and out of 64 positions we have only 63 positions left in the buffer.
	6322
	351.00
	9.36.6
	No mention is made of the procedure for restarting flow after the flow control has stopped it. To restate, what happens to update WinLimitO after the recipient has transmitted a Block Ack with RBUFCAP = 0? Is the recipient (in the context of the Block Ack agreement) allowed, expected, or required to transmit a gratuitous Block Ack frame to update RBUFCAP? Conversely (or at the same time) is the originator allowed, expected, or required to periodically poll the recipient for an update by transmitting a Block Ack Req frame?
	Add text to detail what is supposed to happen.


Proposed Resolution: Reject

Reason:  This is implementation dependent and there are multiple ways to do it. One is to resent BlockAckReq and solicit a BAR response and note the RBUFCAP or send a packet in normal ack policy and restart sending the packets in a block if the ack was properly received. The time interval after which this can be done is implementation dependent.
	6326
	526.00
	21.7.2.2.1
	I can see no text here or elsewhere that tells us which rates of the optional low power SC modulation class are "mandatory" for transmit rate selection purposes. See Clause 9.7.5a.2, Page 253, lines 40-43 for an example of a transmit rate selection rule that depends on this being specified.
	Detail which LPSC rates are mandatory.

Add a transmit rate selection rule similar to the example shown in Clause 9.7.5a.2, Page 253, Lines 40-43

	6152
	526.00
	Duplicate CID of 6326 

21.7.2.2.1
	There doesn't appear to be any text to say which optional low power single-class rates are mandatory for transmit rate selection purposes. Please see 9.7.5a2, pg 253, lines 40-43 for an example of a transmit rate selection rule that depends on this being specified.
	Please clarify along the same lines as the example given.


Proposed Resolution: Reject

Reason:  Look at page 163 in Draft 5.0 in lines 11 to 13 where it indicates that if a STA supports low power SC PHY then all its (LPSC) MCSs have to be supported. The text is recopied from the Draft for benefit of commenter. "The Low Power SC PHY Supported subfield is set to 1 to indicate that the STA supports the DBand 11 low power SC PHY mode (21.7). Otherwise it is set to 0. If the STA supports the low power SC PHY, 12 it supports all low power SC PHY MCSs indicated in Table 21-22."
Abstract
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